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Объем прямоугольного 
параллелепипеда и куба



Решение

• V = abc
• d2  = a2 + b2 + c2

  62 = 22 + 42 + c2

  36 = 20 + c2

  c2= 16,        c = 4
V = 4∙2∙4 = 32

  Ответ:  32



V = Sосн∙ H

Sосн = 24 : 3  
=  8



Объем куба



Решение

⚫V = a3

⚫d = a
⚫             = a
    a = 2                      V = 8



Объем прямой призмы

V =(3∙4∙5) : 2 = 30



Объем цилиндра



Решение

2000        -   16
   X            -   12

V H

16x  = 2000 · 12
x =  1500
Vдетали = 1500

Ответ:    
1500



Объем цилиндра



Решение

Vцилиндра= 12𝛑
V части = 3𝛑

Ответ:     3



Решить самостоятельно


